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Given that A~ =
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' »m and is found




d hence find the area bounded by this
& = 2, using integration.

e ellipse 9x2 + 25y2 = 225,

-~

he 'I 8 x=-2, x =2, and the X—;

A=R - {5} and B = R - {1}. Consider the function f : A — B,
ey

pyde, Oy
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SECTION - E
[n this section, there are 3 case study based questiong of 4 marks each,

boen selling calculators at ¥ 350 each, A
indicates that a reduu:l;inn_ in price (p) of ealeulator i :ﬂﬂ:::tnaum}.

: umbe
price and quantity sold ig give;

J
Based on the above information, answer the following questions :

W) Determine the number of units (x) that should be sold to maximise
Gi the revenue R(x) = xp(x). Also, verify the result.
)" What rebate in price of ealculator should the store give to maximise

/ iy

I 3- _-'.n 1

' mr?bm" at the astronomical centre shows three among the brightest
0o um. Particular constellation. Assume that the telescope 18 iuutc-rjl ’{'.
N +0) and the three stars have their locations at the pml:frﬁ D, ‘1 ol

1 Ving position v, A oA A A LR st and -8 # 7] ¥ 11K

: ectors 2§ +3j +4k, 71 +9]

Pespectively, ]




Jlowing questions :

. the fo 1
— 1
rection of DA :
: —
@ . i3
projection of vector DV on vector DA

i pat i 1€
d Alia appeared for an :nterview for three vacancies in
an

: 1
J M"w: The probability of Rohit’'s selection is 5 Jaspreet’s

]”,.I.md Alia’s selection is i The event of selection is
other.
M”"”"h

b

Ellﬂl' on the above information, answer the following questions
B What s the probability that at least one of them is selected ?
i Fing PG| H) where G is the event of Jaspreet’s selection and H 1
(@) p; hotes the event that Rohit is not selected. :
Ind the probability that exactly one of them is Jectod.
I OR 2
y o Probability that exactly two of them &r¢ gelected.

[

e

L]
uzu%sm Page 23 of 24



